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P2/P1 �
������  !"# $%$ & '()*+, -./0 *1) 2 3*+3,
P1 = x− 5 4
P2 = 3x4

− 10x3
− 16x2

− 39x− 30.

������  !"#$" $ &) (56((' 7 .+**)
P1 = x− 5 4
P2 = 3x4

− 11x3
− 15x2

− 16x− 45.

������  !"#$8 $ &) (9*+ :).3*6) .'
P1 = x− 2 4
P2 = 4x4

− 3x3
− 3x2

− 9x− 10.

������  !"#$; $ &+30 ((' 7 .+*)
P1 = x− 2 4
P2 = 3x4

− 2x2
− 13x− 14.

������  !"#$# $ &0./.3< *(' 7 (+*6
P1 = x− 2 4
P2 = 5x4

− 7x3
− 5x− 14.

������  !"#$= $ >) (?*5@' :).3*A *0
P1 = x− 5 4
P2 = 3x4

− 11x3
− 12x2

− 32x− 40.

������  !"#$B$ > ,C*' :).3*A *0
P1 = x− 2 4
P2 = 4x4

− 3x3
− 5x2

− 3x− 14.

������  !"#$D $ E .C,0 F)GH
:*5I@0 @'*J
P1 = x− 5 4
P2 = 6x4

− 25x3
− 15x2

− 44x− 30.

������  !"#$K $ E ,9*0 *). L (0 (A *.9
L @.,
P1 = x− 4 4
P2 = 5x4

− 14x3
− 15x2

− 27x− 36.

������  !"#$%M $ 2 (J.('. N @)*+.
P1 = x− 5 4
P2 = 4x4

− 15x3
− 15x2

− 44x− 30.

������  !"#$%%$ O(0 +.+3, E .0 6()*+,
L ,)*,
P1 = x− 2 4
P2 = 4x4

− 3x3
− 5x2

− 3x− 14.

������  !"#$%" $ P *A (+(6 E (+3*(I.
P ,)*@ Q16.0
P1 = x− 4 4
P2 = 5x4

− 17x3
− 6x2

− 15x− 36.

������  !"#$%8 $ P @R0H5@'. &+.6I.6*H
P1 = x− 3 4
P2 = 2x4

− 3x3
− 5x2

− 8x− 12.

������  !"#$%; $ S*+< .+< . L @C(
N @0I,T.)
P1 = x− 4 4
P2 = 2x4

− 4x3
− 7x2

− 27x− 36.

������  !"#$%# $ U ./.+*.+/@0 ,3< (+*
QV
P1 = x− 3 4
P2 = 5x4

− 11x3
− 6x2

− 10x− 24.
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ab^cd efgh^gd ijklmnkio
p P2/P1q

3x3 + 5x2 + 9x+ 6 rstuvwx yz{|v}u ~�vw�x�
3x3 + 4x2 + 5x+ 9 rut��tts � zwvvu�
4x3 + 5x2 + 7x+ 5 rut�vw �uz�v�uzs�
3x3 + 6x2 + 10x+ 7 rw�|tts � zwvu�
5x3 + 3x2 + 6x+ 7 r|z{z��vts � twv��
3x3 + 4x2 + 8x+ 8 �ut�v��s �uz�v�v|�
4x3 + 5x2 + 5x+ 7 �x�vs �uz�v�v|�
6x3 + 5x2 + 10x+ 6 �z�x| �u�� �v���|�sv��
5x3 + 6x2 + 9x+ 9 �x�v|vuz � t|t�vz� � �zxq�
4x3 + 5x2 + 10x+ 6 ~t�ztsz ��uvwzqq
4x3 + 5x2 + 5x+ 7 �t|wzw�x � z|�tuvwx � xuvxq�
5x3 + 3x2 + 6x+ 9 �v�twt� � tw�vt�z �xuv� �}�z|q�
2x3 + 3x2 + 4x+ 4 ���|���sz rwz��z�v�q�
2x3 + 4x2 + 9x+ 9  vw�zw�z � ��t ��|�x¡zuq�
5x3 + 4x2 + 6x+ 8 ¢z{zwvzw{�|x��twv � £¤¥¦§ ¨©ª« ��¬¬­®¯


